大学英语B4

一、交际英语
1、-- I failed the maths exam again. 
-- _________

  A：Well done.

  B：What a pity!

  C：That's right.

  D：I'm glad.
答案： B
2、－Nice to meet you.   
－_____          

  A：Fine, thank you.            

  B：How are you?

  C：Nice to meet you, too.

  D：Thank you.  
答案： C
3、-_____________
-Very well, thank you. And you?

  A：Good night.

  B：How do you do？

  C：How do you like Chinese？

  D：How are you？
答案： D
4、- Who's speaking?
- This is Tom        .

  A：speaks                            

  B：spoken

  C：speaking                          

  D：saying
答案： C
5、- Is it possible for you to work late tonight?     
- _______

  A：I like it.

  B：I'll do that.


  C：I'd love to.

  D：I think so.
答案： D

二、阅读理解
1、    Nancy and Peter McCall like sports. In the summer they swim and in the winter they ski. They are planning ski trip for this weekend, but they don't know about the weather. It's 7:30 now, and they are listening to the weather report on the radio. The weatherman is giving the weather forecast for the weekend.

    "Friday is going to be cold and cloudy, but it's not going to rain. The temperature is going to be in the thirties. It's going to snow Friday night and maybe Saturday morning. Saturday afternoon and Sunday are going to be clear, cold and sunny. "

    Now Nancy and Peter are excited. The weather is going to be perfect for a ski trip. They are going to have a wonderful weekend in the mountains. 

(1)、Nancy and Peter listened to the weather forecast for the weekend.

  A：T

  B：F
答案： A
(2)、Nancy and Peter are planning a trip to the village for the weekend.   

  A：T

  B：F
答案： B
(3)、It is going to snow Friday night according to the weather forecast.   

  A：T

  B：F
答案： A
(4)、The weather will be warm and rainy on Sunday.   

  A：T

  B：F
答案： B
(5)、Nancy and Peter often do sports. 

  A：T

  B：F
答案： A
2、The French Revolution broke out in 1789. At the time France was in a crisis. The government was badly run and people's lives were miserable. King Louis XIV tried to control the national parliament and raise more taxes. But his effort failed. He ordered his troops to Versailles. The people thought that Louis intended to put down the Revolution by force. On July 14, 1789, they stormed and took the Bastille, where political prisoners were kept. Ever since that day, July 14 has been the French National Day. Louis tried to flee the country in 1792, to get support from Austria and Prussia. However, he was caught and put in prison. In September 1792, the monarchy was abolished. In the same year, Louis was executed. A few months later his wife, Marie, also had her head cut off. The Revolution of France had frightened the other kings of Europe. Armies from Austria and Prussia began to march against France. The French raised republican armies to defend the nation. The Revolution went through a period of terror. Thousands of people lost their lives. In the end, power passed to Napoleon Bonaparte.

(1)、What's this passage about?

  A：France.

  B：King Louis.

  C：The French Revolution.

  D：Europe.
答案： C
(2)、Which did not happen in 1789?

  A：The French Revolution broke out.

  B：The national economy was developing rapidly.

  C：The government wasn't well run.

  D：King Louis XIV was in power.
答案： B
(3)、Where were the political prisoners kept?

  A：In Versailles.

  B：In Austria.

  C：In Prussia.

  D：In Bastille.
答案： D
(4)、What does the underlined word "abolished" mean?

  A：Put off.

  B：Established

  C：United

  D：Ended
答案： D
(5)、What was NOT the effect of the Revolution?

  A：July 14 has become the French National Day.

  B：It brought some impact on the other European kings.

  C：Louis's wife, Marie was killed. 

  D：The king tried to control the national parliament.
答案： D

三、词汇与语法
1、Wu Dong was _______tired that he couldn't keep his eyes open.

  A：too

  B：much

  C：such

  D：so
答案： D
2、Many people watched the boys ______the mountain at that time. 

  A：climb

  B：climbing

  C：to climb

  D：climbed
答案： B
3、What is the train ______ to Birmingham?

  A：fee              

  B：tip

  C：fare               

  D：cost
答案： C
4、Would you let _____ to the park with my classmate, Mum?

  A：me go 

  B：me going  

  C：I go 

  D：I going
答案： A
5、______  the War of Independence, the United States was an English colony.

  A：Before          

  B：At 

  C：In                

  D：Between
答案： A

四、完型填空
Modern zoos are very different from zoos that were built fifty years ago. At that time, zoos were places   1   people could go to see animals from many parts of the world. The animals lived in cages that were made    2   concrete with iron bars, cages that were easy to keep clean. 

     Unfortunately for the animals, the cages were small and impossible to hide in. The zoo environment was anything but natural.   3   the zoo keepers took good care of the animals and fed them well, many of the animals did not thrive; they behaved in strange ways, and they often became ill.

     In modern zoos, people can see animals in more natural habitats. The animals are given more  4   in large areas so that they can live more comfortably as they would in nature. Even the appearance of zoos has changed. Trees and grass grow in the cages, and streams of water flow   5   the areas that animals live in.
(1)、  

  A：of

  B：Although

  C：where

  D：over

  E：freedom
答案： C
(2)、 

  A：of

  B：Although

  C：where

  D：over

  E：freedom
答案： A
(3)、 

  A：of

  B：Although

  C：where

  D：over

  E：freedom
答案： B
(4)、 

  A：of

  B：Although

  C：where

  D：over

  E：freedom
答案： E
(5)、 

  A：of

  B：Although

  C：where

  D：over

  E：freedom
答案： D

五、英译汉
(1)、Would you please help me with this heavy box?
(2)、Can you express yourself clearly in English?

(3)、What kind of life do most people enjoy?

(4)、They are ordinary people, but did a great job.
六、写作
Instructions:建议你在30分钟内，根据下面所给的题目和提纲用英语写出一篇不少于80词的短文。

Which is more important, Health or Wealth?

1.介绍你对健康与财富之间关系的看法；

2.简述你持有以上看法的理由。
